
Facteur d’EƵ chelle (C)
Nom: Date:

Déterminez le facteur d’échelle pour chaque ϐigure et marquez les longueurs manquantes.
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Facteur d’EƵ chelle (C) Réponses
Nom: Date:

Déterminez le facteur d’échelle pour chaque ϐigure et marquez les longueurs manquantes.

A3,
6d

m

12,4dm

4,6
dm

A’10
,8

dm

37,2dm

13
,8
dm

3×

B3,
6n

m

3 nm

3
,9nm

B’

7,
2n

m

6 nm

7
,8nm

2×

C12
µm

20 µm

20µm C’24
µm

40 µm

40µm

2×

D5,
6c

m

10,5 cm

11,9 cm
D’22

,4
cm

42 cm

47,6 cm

4×

MathsLibres.com


